
II.1.1. Zmiana wartości początkowej środków trwałych Tabela Nr 3

Nabycie
Przemieszczenie 

wewnętrzne
Aktualizacja

Inne 

zwiększenia

Zwiększenia 

ogółem 

(4+5+6+7)

Rozchód
Przemieszczenia 

wewnętrzne
Aktualizacja

Inne 

zmniejszenia

Zmniejszeni

a ogółem 

(9+10+11+1

2)

1 2 3 4 5 6 7 8 9 10 11 12 13 14

1 Gr. 0 1 208,50 zł 0,00 zł 0,00 zł 1 208,50 zł

2 Gr. 1 952 661,69 zł 248 949,42 zł 248 949,42 zł 0,00 zł 1 201 611,11 zł

3 Gr. 2 130 613,41 zł 0,00 zł 0,00 zł 130 613,41 zł

4 Gr. 3 2 030,00 zł 0,00 zł 0,00 zł 2 030,00 zł

5 Gr. 4 814,77 zł 0,00 zł 0,00 zł 814,77 zł

6 Gr. 5 0,00 zł 0,00 zł 0,00 zł

7 Gr. 6 7 089,99 zł 0,00 zł 0,00 zł 7 089,99 zł

8 Gr. 7 0,00 zł 0,00 zł 0,00 zł

9 Gr. 8 0,00 zł 0,00 zł 0,00 zł 0,00 zł 0,00 zł

10 Gr. 9 0,00 zł 0,00 zł 0,00 zł

11 Wartość początkowa 

środków trwałych – ogółem
1 094 418,36 zł 0,00 zł 0,00 zł 0,00 zł 248 949,42 zł 248 949,42 zł 0,00 zł 0,00 zł 0,00 zł 0,00 zł 0,00 zł 1 343 367,78 zł

12 Wartość pozostałych 

środków trwałych - 013 73 031,41 zł 42 106,35 zł 0,00 zł 0,00 zł 0,00 zł 42 106,35 zł 0,00 zł 0,00 zł 0,00 zł 0,00 zł 0,00 zł 115 137,76 zł

Wartość 

początkowa – stan 

na koniec roku 

obrotowego (3+8 

– 13)

Przedszkole Zbytków

Lp.

Wyszczególnienie 
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rodzajowych
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